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1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
No | Question Text and Option
1 The value of |3 _8|
2 0
A. —13 B. 19
C. —16 D. 16
1 3 -8
|2 ; |l (Budt
A. —13 B. 19
C. —16 D. 16
2 If f(x) =5x? —5x+ 7then f(3) = __
A f(=2) B. £(=3)
C. f(2) D. f(
2 |l fx) =5x2—5x+7dl f(3)=_
A. f(=2) B. f(=3)
C. @ D. @
3 log,a=
A. 0 B. 1
C. a D. None of these
3 logea=__
A. 0 B. 1
C. a D. As yBl«ifs
4 logm — logn = ___
A logmn B. m
log (n)




C. log (%) log (m —n)
4 logm — logn = __
A logmn log (g)
n _
C. log (E) log (m —n)
5 If f(x) =logxthen f(x) + f(y) =
A fx+y) flx—y)
C. f(xy) f (f)
y
5 %S0 = logxdl f() + () =
A. fGx+y) fGx=y)
. FG) ()
y
6 3x 9|_ _
If| 5 6|—0thenx—_
A. 2 1
C. 0 -1
6 3x 9|_ _
A5 zodlx=_
A. 2 1
C. 0 -1
7 logx* = __
A log.x log4x
C. (logx)* 4logx
7 logx* = _
A log.x log4x
C. (logx)* 4logx
8 If log.e* then f(0)
A. 0 1
C. 2 e
8 | %l log,e* dl £(0)
A. 0 1
C. 2 e
9 logyx® xlog,y* = __
A. 3 5
C. 2 6
9 logyx® xlog,y* = __
A. 3 5
C. 2 6
10 If f(x) =x*>—3x+1then f(2)+ f(3) =
A. 1 0
C. 2 -1
10 |l fa)=x2-3x+1dlf@Q+fB)=__
A. 1 0
C. 2 -1
11 If f(x) = log (x—_l) then f(—x) = ___
A. x—1 x+1
log( % ) log ( § )
C.
log (x + 1) log (x - 1)




1L ol f) = tog () dl f-) =
A. ] (x—l) ] <x+1)
og x og x
C.
log (x+1) log (x—l)
12 If /logzx =2 then x
A. 9 81
C. V3 6
12 °ﬂ,/log3x=2('n x
A. 9 81
C. V3 6
b
13 If log (%) + log (Z) = log (a + b) then
A. a—-b=1 a+b=1
C. a=bh a’>—b*=1
13 o8\ log (%) + log (%) =log (a + b) dl
A. a—-b=1 a+b=1
C. a=bh a’?—b*=1
14 cosf  sinB| _
—sinf  cosOl T
A. 2cosf 1
C. 2sinf
14 cosf  sinB| _
—sinf cosfl T
A. 2cos0
C. 2sinf
e
X R
A 2x + 2y x%2—y?
C. x% +y? (x +y)?
15 X —y| _
y X —
A. 2x + 2y x? —y?
C. x% + y? (x + y)*
16 If f(x) = log,1 then £(100)
A. 0 1
C. 100 X
16 | %) f(x) = log,1 dl £(100)
A. 0 1
C. 100 x
17 270° = Radian
A. 4r 2
3 3
C. 3 T
9 9
17 | 270°=_ 3|4
A. 4r 2
3 3
C. 3 T
9 9
18 %” Radian=___ °




A. 40 80
C. 20 10
18 | Z36lust=_ e
A. 40 80
C. 20 10
19 Period of cos(3x +5) =
A n 2n
3 3
C. T 2n
5 3
19 | cos(3x + 5) of YU HlddHlA =
A n 2n
3 3
C. n 2m
5 3
20 Period of cosg =
A. 6m 12w
C. 8r n
. [d 6
20| cosZ o Yud Aldclet =
A. 6m 12n
C. 8r n
6
21 o (E_p)=
sin (2 9)—
A. —cos0 cos0
C. sind —sin6
21 o (E_p)=
sin (2 9)—
A. —cos0 cos0
C. sinf —sin6
22 sin120° = ___
A 23 1
2
C. V3 V3
2 2
22 sin120°=__
A 23 1
2
C. V3 V3
2 2
23 sin(A + B) - sin (A — B)=
A. sin® A — cos? B sin® A — sin®B
C. cos? A — cos?B cos? A —sin’B
23 sin(A + B) - sin (A — B)=
A. sin? A — cos? B sin? A — sin?B
C. cos? A — cos?B cos? A —sin’B
24 sin2x
A. 1 —tan®x 2tanx
1+ tan?x 1+ tan? x
C. 1+ tan®x 2tanx
1— tan® x 1—tan?x




24 sin2x
A. 1 —tan?x 2tanx
1+ tan? x 1+ tan? x
C. 1+ tan®x 2tanx
1 —tan2 x 1 —tanx
25 sin40° + sin20°
A. cos10° -cos10°
C. c0s20° -c0s20°
25 sin40° 4 sin20°
A. cos10° -cos10°
C. c0s20° -c0s20°
26 If sin@ = %then cosecd =
A. 4 5
5 4
C. 3 3
5 4
26 ) sind =§ dl cosecd =
A. 4 5
5 4
C. 3 3
5 4
20 | 1fe = %” then 6 lies in quadrant.
A. First Second
C. Third Fourth
21 | %lo="dlo UL Ui B.
A. Yoy (gcld
C. qdlu Agel
28 5in90° - sin60° - sin45° - sin0° =
A. 0 1
C. -1 1
2
28 5in90° - sin60° - sin45° - sin0° =
A. 0 1
C. -1 1
2
29 | tan"1(v3)
A. 30° 45°
C. 60° 120°
29 tan~1(+/3)
A. 30° 45°
C. 60° 120°
30 If f(x) = cosx then, f (% + x) =_
A. CcoSx sinx
C. —CoSx —sinx
30 °Zﬂf(x)=cosx d?,f(§+x)=_
A. CcoSx sinx
C. —CoSsx —sinx




31 [xxQ2R)=__
A. 2|x|? 2%
C. 2 0
31 |xxQ2x)=__
A. 2|x)? 2X
C. 2 0
32 If |X]|=2 then |-3x|=
A. 6 -6
C. 12 18
32 | %\ |x|=2 al|-3x|=
A. 6 -6
C. 12 18
33 IX(x—-y)=___
A %] = (X x ¥) XXy
C. y X x 0
33 IXGE=y)=__
A. |%]2 — (x X ) XXy
C. y X x 0
34 |IfxLythenx- (¥ +¥y)=
A |x]? 0
C. || 1y
3 M rxlydlx (x+y)=
A. |x]? 0
C. || 1y
35 | [|3t+47+12k|=__
A. V50 12
C. 13 15
35 | |3t+47+12k|=__
A. V50 12
C. 13 15
36 |jxk
A. —1 3
C. 0 1
36 |jxk
A —1 3
C. 0 1
37 If (1,-2,3)-(45m)=0thenm=____
A 2 -2
C. 3 0
37 |l (1,-23)-(45m)=0dlm=___
A. 2 -2
C. 3 0
38 |%|? =
A. X X X X-x
C X+ x Edks
38 x| =
A, X X X X-x
C. X+x |x|x
39 | If|x| = 4, then % - (5%)=




A 16 B. 25
C. 20 D. 80
39 | % |x|=4,dlx-(5%) =
A. 16 B. 25
C. 20 D. 80
40 |1 J+j-k+k-1=
A. 1 B. 3
C. 0 D. i+7+k
40 |\t j+j-k+k-1=
A 1 B. 3
C. 1 D. i+]7+k
a1 ]
For every vector x # 0 then % is .
A. Zero vector B. Scalar
C. Unit Vector D. Constant
4l | R2eludsulez =0, HRZ ¥ 8.
A. Qe AleLl B. (g2l
C. A sH Aleel D. Y0
42 ()]
A. 0 B. n
2
C. s D. n
3
42
"))
A. 0 B. T
2
C. s D. n
3
43 iS a unit vector.
A. (3 4) B. (1 1)
5’5 2’2
C. (1 1 ) D. V3 1
)
43 A usH Aleel
A. (3 4) B. (1 1)
5’5 2’2
C. (1 1) D.
2°\2
44 If ¥ X ¥ =(1,-2,-5) then y X (X + y)=
A (-1,2,5) B. (-1,-2,-5)
C. (-5-2,1) D. (5,2,-1)
44 | % ¥xy =(1,-2,-5)dl ¥ x (X + y)=
A. (-1,2,5) B. (-1,-2,-5)
C. (-5,-2,1) D. (5,2,-1)
45 The slope of the line making an angle of % with positive X-axis.
A. 1 B. 1
V3
C. V3 D. 0o
45 | X-a{gl ofl tel (el A1 T HIUeAL LRI et Rl <l 3loi=




A 1 B. 1
V3
C. V3 D. 00
46 Angle between thetwo linesx +y =0andx —y =01s
A. T B. T
3 6
C. 0 D. m
2
46 | G 3l x +y =0 x —y = 0 4 ol WAl
A. T B. T
3 6
C. 0 D. T
2
47 X- intercept of the line 3x + 5 = 0is
A. 5 B. |5
-3 3
C. 3 D.|0
5
47 | 3ul3x 45 =0 ol X-2d:uls
A. 5 B. 5
3 3
C. 3 D.|0
5
48 If (6,0) is the centre of the circle x2 + y2 + 3px —1 =0 thenp = __
A. 4 B. -4
C. 2 D. -2
48 [ (6,00 N ddx?+y2+3px—1=0 3 Elddl p=__
A 4 B. -4
C. 2 D -2
49 Radius of the circle x* + y* = 18 is
A. 24/3 B. 32
C. 2V2 D. 3V3
49 | x2+y2=18 ol (Aol
A. 2V3 B. 32
C. 2V2 D. 3V3
50 | The equation of the normal to the circle x? + y? = 10 at (+/10,0) is
A. y =10 B. x =10
C. y=0 D. y = —J/10
50 | dd®x? +y? = 10 Well [6lg (v10,0) HPI He{ldud o AilsQl
A. y =10 B. x =10
C. y=0. D. y = /10
51 The equation of line which perpendicular to X —axis and passing through (5,0)
A y=0 B. x=5
C. x+y=5 D. x—y=5
51 | X — & o 04 3a (5,0) Hiell uIR Al Jull of A5
A. y=0 B. x=5
C. x+y=5 D. x—y=5
52 Slope of the liney —3 = 0s
A. 3 B. 0
C. -3 D. 1
3




BN

52 |duly—3=0¢laln
A. 3 B. 0
C. -3 D. 1
3
53 Slope of the line5x —y +3 =01s
A. -5 B. 5
C. 1 D. 1
5 5
53 | Ul5x—y+3=0¢laln
A. -5 B. 5
C. 1 D. 1
5 5
54 If m; and m, are slopes of two parallel lines then
A m my, =1 B. m; my, =-—1
C. m; my, =0 D. m; =m,
54 | %l m, Wl m, 3l dloll JWI) YHIdR Sld dl
A m m,=1 B. m; m, =—1
C. m; my, =0 D. m; =m,
55 Angle formed by the line x — 5 = 0 with positive X-axis is
A. T B. T
6 3
C. T D. 0
2
55 | 3udlx —5 = 0 A tol X- W& AUl& 4eilde) WaILl
A. T B. T
6 3
C. m D. 0
2
56 If the Y-intercept of the line 3x — 5y + k=0is2thenk = ___
A. 6 B. -6
C. 10 D. -10
56 | % WI3x —5y+k=0clY-dduwis2e-dlk=__
A. 6 B. -6
C. 10 D. -10
57 Centre of the circle x2 + y2 —4x+ 7 =0is
A. (-2,0) B. (2,0)
C. (-4,0) D. (0,4)
57 |ddnx®+y2—4x+7=093%
A. (-2,0) B. (2,0)
C. (-4,0) D. (0,4
58 Equation of the tangent of circle x? + y2 = 13 at the point (2,3)
A. 2x—3y =13 B. 3x—2y =13
C. 2x+3y=0 D. 2x+ 3y =13
58 | (oig (2,3) ALY ddulx? + y2 = 13 «il QLS of AH]5WU=
A. 2x —3y =13 B. 3x —2y =13
C. 2x+3y =0 D. 2x+3y =13
59 | i Xis
x-2 x—1
A. 3 B. 1
3
C. 2 D. 1
89 | imXis
x-2 x—1




A. 3 l
3
C. 2 1
60 lim 2—2=
x>0 X
A logs e log, 5
C. 1 0
60 lim ==
x-=0 X
A. logs e log, 5
C. 1 0
61 . sinm(-):
Hm =
A. 0 m
C. 1 6
61 . sinm6=
A
A. 0 m
C. 1 0
62 lim (sec? x — tan? x)
A. -1 0
C. 1 5
62 lim (sec? x — tan? x)
A. -1 0
C. 1 5
63 lim &=
x>0 X
A. e 1
C. -1 0
63 lim &=
x>0 X
A. e 1
C. -1 0
64
lim (1 +
n—oo
A. e 0
C. 1 -1
64
lim (1 + —)
n—oo n
A. e 0
C. 1 -1
65 . tanf
lim
6-0 @
A. -1 0
C. 1 Ie%e)
65 . tanf
lim
6-0 @8
A. -1 0
C. 1 0
66 x*—-16
lim
x-2 x—2
A. 14 12
C. 32 None of these




66

lim
x-2 X —2
A. 14 12
C. 32 REREGE
67 I tan36
600 46  _ —
A. 3 4
4 3
C. 12 i
12
67 I tan36
600 40  _ —
A. 3 4
4 3
C. 12 i
. 12
68 lim x +x+1=
x—1 xX+1 -
A. § 1
2
C. 3 E
3
638 li xZ4x+1_
¥l x+1  ——
A. § 1
2
C. 3 E
. 3
69 lim &=
x—=0 X -
A. 1 3
C. l None of these
. 3
69 lim &=
x>0 X e
A. 1 3
C. 1 ARSI |
_ 3
70 lim X =*=
xo2 X—=2
A. -4 4
C. 1 0
70 lim =% =
X2 x—2  ——
A. -4 4
C. 1 0

11




